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®

;:2— 20= _J20 + ‘/20 + J20 +/20 + ... infinite terms,
then whét is x equal to ? '
(a) 4
(b) | 5

(c)‘«/g

@ 25

2.

8. If(ad + bd) is proportional'fo a
(a2 — ab + b2) is proportional to'

(@ (a-b)
) (a+b)
(c) (a+ab+hb)

@ (a3-bd)
FDGT-T-EMT

4. If ] = %, then what is the

Jx+20-x-1 -
value of /(x +20)(x-1) ? -
(a) 8 :

d 9
() . 10

(d) 12

What

\f (x8-y% and

is the HCF of x2 + px + q and
x? + gqx + p, where p # q, then what is the
value of k ?

T
b 0
' 1
(c) E

1

(d)

(3-A)
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8.  If three times the greater of two numbers is|11. Consider the following statements :
divided by the smaller number, the quotient :
will be 6 and the remainder will be 6. If five| 1 x4 (y-2) +y4(z x) + 24 (x — y) is
times the smaller number is divided by the :
greater number, the quotient w1ll be 2 and the : : posxtlve ifx>y>z.
remainder will be 3. What is the d1fference >
between the numbers ? 9 x4(y—z)+y4(z—x)+z4(x—y) is
(a) 8 ' negative ifx <y < z.
(b) 9

Which of the above statements is/are correct ?

© 10 |
@ 12 - o BN

1 (ab +

aZ(b-
2. (a+b+

a2(b-c
Which of the
correct ?
(a) Only1
(b) Only2

: equal
() Both1
(d) Neither hnor2.
10. Whatis
1
X (x-y)(x—-2z)
equal to ? ;
2
g () x2+2V3
() -1 ‘ : :
1 (d) X2 - 2\/-3-

) — ] :

XYz,
bl

xyz v
FDGT-T-EMT | (5-A)
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~ Join Telegram : .https://t.me/de_fenceekaksha



. . ®
22

13.

14. .

15.

(a) 400

-(e)) 8days

X and Y can do a piece of work in 45 days and 16, There are two stations X and Y, 1320 km
40 days respectively. They begin to work

apart. A train starts from station X at 6 a.m.
together, but X leaves after n days and then Y ' : : :

completes the remaining ok in 28 days. and moves at an évei'age speed of 60 km/hr. At

~ What is n equal to ? . : 2 p.m. another train starts from Y towards X

ivd £ ) TR et o " and moves at an average speed of 80 km/hr.

B - i : When do they meet ?

(e) © "10

(a) .6pm.

(d)

order to com letc
20 days, worki

(b) 420 :
' e are filled with a

(c) 480, in the ratio 3 : 2

(d) 500

12 won_lén and 16 men can do s
in 5 days. 13 women and 24 me:

4 days. How long will 25 women'and 50 men

take todoit ? =

(a) 1lday-

(b) 2days S, - (e); 3

(). 7Te4
(d) 4days :

FDGT-T-EMT gl (7-A)
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1 HCF, x%aﬂtLCM y|21.

(8-A)
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bt N%ﬁwgvndﬁhﬁﬁm*eo% |
2. N 99 UHES! &l §&I1 720 7 |
. ﬂ%ﬁqmwmaﬁnmaﬁmgﬁq
(a) HaA1

(b) e 2

“,(azbzo) ¥,

mfefiggFrdfam TR ?
@ 80° '

~ " (Y 1O0F,
ey 120°

S (d)  220°

~Join Telegram : https://t.me/defenceekaksha



Wmn%an

| LET’S LEARN TOGETHER

18

19.

20.

6 8 3
o il the HOF ‘dnd 5 s the LCM of 21. Consider the number N 126 x 38 x 53, Which
3 6 9 27 of the foHowmg statements is/are correct ?
then which one of the
g 572572050’ ‘ L. The number of odd factors of N is 60.
following is correct ? ~ 5 A -
: 2. - The number of even factors of N is 720.
(a y=90x ' 0L : =
: Select the correct answer using the code given
, (b) A y = 180x “below : )
@ y=amx @ ouly1
(@
The_re are
x > y. When x
remainder 2

when (x —y) is d

@ 1

| angle between the hour hand and
hand of a clock when the clock

sum of the digits. What is the pfoduct of the , :
: v ¢ Tt AN .shows 4 hours 40 minutes ?
digits ? e ik :
@ 15 (a) .80
®) 18 (b). > 100°
© 20 e 2
@ 2 @ 220
FDGT-TEMT SRR o T
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24, .aﬁ 1og10[995+‘/x'2-12x'+60J = 3%, ?ﬁs%r 27. ‘ﬁéﬁqu wﬁmmﬁﬁﬂiﬁﬁq

25.

26.
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x2 - 2px + 0. S i) T :
o pr o N S o foTd et o1 Tt
1 .X= B % &

had HYA-2 T
2. x= HYA-1 3N HUH-2
g it [-1 3T HUH-2,

. (a) HaA TH e 1qq e 3 q(ﬁ'i'll“ﬁﬁﬂ

b) FAJAE [ ohes e 5 y %1 LCM 4818, W& x> y.

"(d) HIs off HE,

- AA AT px) = x4 + x2 +
: q(x) x4 -2x3 +3x2 - 2x + 1

x 3 yHHCF 1% 1

e !T&‘f 8 ﬁﬁ%ﬁﬁ o q
q(x)EFIGCD x2—x+1§

£ . e S el mmm%ﬁ%%QWW1wh
) e D " (b) Eﬁqwsﬁtéﬁ%m%ﬁlﬁw—zwﬁ :
(b) (x4'+x2+-~_1)2__(x2—x+1) . S Ewwmaﬁ%mmlaﬂtmz
© (A+x2+1)x2+x+1)2 SHi T -
@ (x4+'x2+-1)(kz,—x.+'1)2 s : (d)-;ﬁ:‘rzf?wgﬁ;mw}ﬁwz
.FDGT-T;EM1; et (10-A)
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24. If logy [995+ ‘/xz -12x +-60:l = 3, then what |27 Consider the question and two statements
g given below.:
is the sum of the roots of the equation ? ; ; ¥R
o A 2-digit number is added to the number -
(a) 12 2k S : formed by reversmg the digits of the 2- digit
. be ;
(b) 11 e v
SR . Question :  What is the 2-digit number ?
© 10 S ‘ ~ Statement-1: The sum is divisible by 9.
@ 9 : R ' | . Statement-2: The sum is divisible by 2. - ;
: : Which one of the following is correct in respect
25. How many of the followmg values of x @ _ of the question an tements ?
: satlsfy the equation.gs sufficient to
1 X= sufficient to ;
nd Statement-2 are
2. x= he question
nd Statement-2 are
g kgl er the question
Select the collk and two statements
below :
(a) Only one valu nbers x and y is 481 where
(b)  Only by
; Vhat is the value of (3x — 2y) ?
(¢) All three 5 : ;
: oy >y :
s . HCF of x and yis 1.
26. I:etﬁ(x):x4+x2+1, e of the following is correctmrespect
: of the question and the statements ?
FREFNE LA e (a) Statement-1 alone is sufficient to
j - a) ment- e n
and q(x) is x2 — x + 1, then what is their LCM ? . e T
_ answer the question R
(@) E+x+1DEZ-x+1)2 : ~ (b) Statement-2 alone is suﬁicierit to
) = - answer the question
2 e
® ot I i A(x X1 : (¢) Both Statement-1 and Statement-2 are
© *+x2+1)x2+x+1)2 : : sufficient to answer the question
; i . '(d) Both Statement-1 and Statement-2 are
(D & +x2+ D2 -x+1)2 : not sufficient to answer the question
FDGT-T-EMT bkl (11-A)
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2,9-' ﬁﬁQWWﬁTQEQ:"WﬁaREﬁﬁm 31. qﬁ‘a = 3b, 4b = 50; (6(: =7d é, £ gﬁ_
o S 5 : - ‘ _a
FA:  FM (P +yD),x+y)FISTR? | : 3 : :
FYF1: nTh O AR | |
_ : ot i i
FYF2 : n@mw{;ﬁ'm3| , 1 (a) £ 2
T IR wl & wed # fefafen d @ o8BS ,
o wmmEmRe 5
e W*‘“**WW%1W o o
(b) S HT I Gnan
(C) - m A b ‘ < :
@ 5w il o

30. fRfevmuy A 2

v(a)?mwﬁ%m#‘ /'.“ ; afg bc+cd‘2bd Gﬂ'( a+c= 2b % ar ..
® mmmaﬁmmmzm ’ "5"@"”@”“&%" -
o 2 : >(a) ab cd 0
(c) :wwwiﬁ%mwmﬁth ; 4

21 gt € . (b) a¢'-b§=°
(@ mw:ﬁtaﬁ%mw1sﬂtw2 (¢ ad-bc=0

- (@ ad+bc=0
FDGT-T-EMT' el R
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29.

80. :

. Which one of the follo_wing is co

Consider the question and two statements|31. Ifa = 3b, 4b = 5c¢, 6¢ = 7d, then what is g* a
. it A — a
given below :
i » , equal to ?
Question :  Is (x™ + y?) divisible by (x +y) ? ~
Statement-1 : n is a natural number. 4 (@) 43
Statement-2 : n is an even natural number. &) 43
Which one of the following is correct in respect | 27
of the question and the statements /4 t 27

(a) Statement-1 alone is sufficient

answer the question

(b)
(c)

k for which the
(d) — 1 has no real

Consider the
given below :

Let x and y be
Question :

Statement-1 :

Statement-2 : x%10< 0>

of the question and the stateme ’bd and a + ¢ = 2b, then which
(a) Statement-1 alone i ) cient to one of the following is correct ?

answer the guestlpn . ik
(b)  Statement-2 alone is sufficient to ’

answer the question ; (b) ac-bd=0
(c) - Both Statement-1 and Statement-2 are ~ (© ad-be=0

sufficient to answer the question :

; d d+bc=0

(d Both Statement-1 and Statement-2 are . %

not sufficient to answer the questlon

FDGT-T-EMT - (13-A)
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85

36.
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(¢) 800 km/hr

()

@

2800 km I 3IgM #, fret fomm i 1fy @

3Ed Tfd 100 knvhr FH & T 3 IeH F
T 30 fire wg lﬁmaﬁ@aﬂmnﬁ
ﬁwﬁ!ﬁ?

700 km/hr

750 km/hr

(a)
(b)

(d 900 kmhr

wﬁm%aﬂthkm/hr' N
T & 1 Y & e 3
T BT 2

ud
(u-v)

vd
e R

(ud - vd)
(u-v)

(a) =5

(c)

(ud + vd)
(u+v)

Join Telegram :
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40.

(14 A)

(b) .

p & it geit s ¥ o 3R g sgE B A
% e #1 3 q 2B, ?hp4+4p2ﬁ'7ﬂa?m
SR

(a) 4q
st
(¢): 4q2
(d g2

M T 10,000 W 4% H Ak T F JwREw
IR T HANG Th a9 1 F3hglg &1 C 8,
aﬁwﬁr@aﬁﬁaﬁqmw-ao

(@ €<% 100
2100<C<%200
() ¥ 200<C<T 400

d C>%400 -
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34.

- 35.

~ 36.

FDGT-T-EMT

_(a)

In a flight of 2800 km, an aircraft was slowed
down due to bad weather. Its average speed
for the trip was reduced by 100 km/hr and
time of ﬂight increased by 30 minutes. What
was the orié‘inal average speed of the aircraft ?

(a) 700 km/hr
(b) 750 km/hr
(¢) 800 km/hr
(d) 900 km/hr

speed of v km/hr. How far will

before he overtakes Y ?
ud

(u-v)

vd ;
(u-v)

(b)

(ud - vd)

(c) 6

(ud +vd) ¢

- (u+v)

Join Telegram :
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If p is the difference between a number and its
reciprocal and q is the difference between the
square of the same number and the sciqare of
its reciprocal, then what is p*+4pZequal to?

(a) 4q

B Bg

(c) ' 4q%
@ q2

If C is the cort pound interest on ¥ 10,000 for

one year at 4% per annum when compounded
quarterly, then whlch one of the followmg is

" correct ? ?

(a) ~C<'f100 :
() % 100<C<Z 200
(© T200<C<% 400
(d) C>§’400

htt’ps://t;me/defenceekaksha'
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FIrg : ' .
whe 6x2 - 25x + O + 28 L 1p - 0w

2
ﬁarta?rﬁﬁzl

5.4 X

41. x;_.%wﬁawﬁﬁé@mw%v
: 1
(a) 5
3
® =
c)s 2
5
I

,am?aﬂ#«‘ﬂ#

43. cosZA + cos2 B + cos? C freh T R 2

(a)

417.

(b)
v de)

LSS 1o A

(d)

FDGT-T-EMT : , (16-A)

sin2 A + sin2 B + sin2 C fohueh ser 8 2

(8): 2
! 5
(b) =
(3 ¢
3
(d) g

ﬁwﬁn@awﬁw

fier s et fiig (p)

HI0T 30° B | 3 A
: 2H M 8 | 7 =i
I ® gfdfem &1 stamm

(@ 3t e % o fuffa € e s
bl

PC fores s 2 2

(a) HWT

(b) 2H H

(c) \/§H1ﬁ'€{ :

@ 2HHR
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Consider the followmg for the next two (02) items|44. Whatis sin?A + Siﬂ2.B'+ sin?C equal to?
that foll '
S (a) 2
Consider the equation : (b) -5
Ry ! 4
'6x2-25x+%+§+12 0. |
X X ; e)=-1
' ' i Sa e
41. What is one of the possible values of x — — ? 4
4 - 2 B
it
(a) . "2-
W o3
(b) 3
(e~ 2
5
Sl
@ St
42, What is one of two (02) items
(@) 6 1 eloud at C from a
(b) Q - surface of a lake
; 3 ¢ from the surface
© 8 et 0 be the angle of
d % : 1 of the cloud in the
Consider the following fo
that follow :

A tnangle ABC Wlth suIe

‘BC=9em, CA=12 cm,ls inseri (d) Cannot be determined due to

; 5 insufficient data’

43. Whatis cos?A + cos? B + cos? C equal to ? :

(a) 3 o 47. What is PC equal to ?

. (a) H metres

o 15 (b)  V2H metres

O3 (©  V3H metres

@ 2 (d) 2H metres
FDGT-T-EMT | ' (17-A)
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- 49.

50.
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() 76

o T HE R

(d 38

3w T e e 4R

- GEEE B L R R e G D R

f |46 p|aql2)10]5

F AT 2003 3R 2T ST 1462 |

(a 170

® 72

@ 78

(a) 32
(b) 34

) 36

S I WIETH 1R 2
(@)1=
=2

(c) 8

d 4

] (18.—A)

51. IR tano = ——; 0<6<90° &, d
sece+cos6+2ﬁ?aa§m%?
e o Doyl
e +q
pq
: 2
iy (p+q
Pq

0<6<90°8,
R_IT R ?

S (e da qfd) T
15 3Tl % forefl TH-SEYS & 3favid @i T
Pt e g 2

(@) 0-5cot12°
(b)- ‘cot12°
(¢ 0-5tan12°

@ tan12°
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b 5 TR
Conslder the followmg for the next three (03) items B i q“ -p
that follow : / . -
W : sec 0 + cos 0 + 2 equal to ?
A frequency dlstnbutlon table is given below : : L AR
; 5 : ' & (a) . p2 + q2
il S R B o P L L pq

f |46 | p | q|25]|10] 5

- Total frequency is 200 and mean of the o pq :
~ distribution is 1-46. e , ¥ (p +q)?

Sl Wit in (e vilua

(a) 170
(b) 72
. k(c) -_-76'
.‘(‘d)" 78

4D, Wkeh tathe wal

(@) 32
(b) 34
© 36
@ 38 meter of & Girele inscribed in &
SR 2 of 15 sides with side length
50. What is the medlan 'of the &istribution‘ (G5 A Hhe T ‘(a) 0-5 cot 12°
@ 1 Gl o e (® cot12°
i ' S | © obtan1ze
o ) BN R gt el ' ‘ A (d) tan12°
@ 4 '
: FD_G'LT—EMT : _7 R e e e
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. _ 1+sin@ tan9+sec6 4 ﬁFan iy
ﬂrﬂx cosf. % = tan6 - sece+1 2h2s !lﬁ cosec - cot6 §i1.1 x%,
TR 2 ‘ Lae
& o 4 ,1 mm% as’f
. 3 oosec9+oot9 sin
(a) -x : ;
@ e i 0<9<—%"
e ~e Fow ' ' (@) -x
s oo o e e ;
: g g |
e} -0 ="
x

5. e o e i -

AN A ec] :‘E’WWW%

56. ?Jﬁ sm9+eose_5% Hﬁo “".,4

o Eing —coRg
) 23 2su_19+300_s(-)
"’ 3sinB-2cosh

% ﬁﬁ0<6<£%‘?

@ % '
' : : _(a) tan 0
e R B ‘ e S Ab) e :
© _152 e :  (© 2tan®
" : ' (d 2cotd
@ 3
FDGT-T-EMT i : {20-A)-
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S ‘1+sinb . tanf+sec6-1 1 1 el K
. == ,th hat is ———— = [57. If - — & 3 8 hat
L Ifx e tan® —sec6 +1 cosecf—cot®  sin® TR

! 5 4 £l
equal to ? B G el G :
‘ cosec 0 + cot 0 sin® oqisk Ty Wi
s ’0<6<£?,
(b)) x 2%
(@) -x
e 2 :
: (). ;%
S
Wiy e
: 3 x
55. Consider the followin,
sin 0 — 3 cost 0
where
2.
wh‘e‘reO
 Which of the ak SATAR S
(@) Only1 _gere.0<9<£?'
(b) Only2 | 2
i Both 1
(d) Neither
g RO o kel
_ sin 6 - cos® v
then what is the value of 2 Sl “EE
' ) 5 (1+sin9) v
8 £
(a) 5 to, where 0 <0 < = ?
_ | ¥
o R (a) tan®
| 12 (b) cot®
() = :
5 © 2tano
@ 3 (d) 2cotO
FDGT-T-EMT (21-A)
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ﬂﬁ'yaﬂt %aﬁammx%?ﬁ

ﬁn%%aﬁéaﬁmmaé%?

(@ xy+xz-yz=0

62

FDGT-T-EMT

@) o100
(b)

() xy+xz-2yz=0

() xy+. xz'+'yz= 0

»'(d) Xy + Xz — 4yz = 0

120%a\ﬁaurhagun@3’rwmmm%? '

aﬁmﬁwﬁmaﬁ%mﬁ%aﬂmmss
%ehﬁmmwﬁmﬁmqﬁmﬁé%?

(a) 38
(b) 40
()5 42 ;
(d 44

(22-A)

4,7, 10, 14, 2x + 3, 2x + 5, 22, 23, 30, 50 .
% 3Ths AN %9 H & | x % fafaw wel ¥g
m(%a)%um%%qﬁﬁﬁwﬁam
g ' 2y
(a) haet T O

% S I 78+4 T T | KA 1T F
% 9 ﬁmﬁsswmwm.

ﬁtzsaﬁmﬁszw%mwmaaﬁ
- aﬂmsﬂtmaﬂmﬁmm%? |

: (a)‘ 0-04 :

(b) 008
(© 012

(d 018

Join Telegram : https_://t.me/defeh_Ceekaksha
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61.

(d) xy+xz—4yz=0

)11

The sum of

- students of 4 sch

®

If x is the harmonic mean between y and z,|65. The data of different natural numbers

then which one of the following is correct ? 4,7, 10, 14, 2x + 3, 2x + 5, 22, 23, 30, 50

(a) xy+xz-yz=0 g are in ascehding order. How many possible
(b) xy+xz-2yz=0 ‘ * values are there for the median of the data for
() xy+xz+yz=0 : various values of x ?

(a) Only one value

What is the median of all possible factors of ®) Only two values
12027 ; '
(a) 10

© 12
d 135

100 even natural
he mean of the
s ? '

Number of
students

School

1 ol and 25 was misread as 52.

II 50

What is the difference between correct mean

i 50

and incorrect mean ?

IV X : 50

If the average marks of the stﬁdents of all four (a) 004
schools are 58, then.how many students
appeared from School-IV ? (b) 008 .

(a) 38

(b) 40 : ; (© 012

(o 42 :
d 44 : : 3 (d 018

FDGT-T-EMT (23-A)
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68. Th BT ABCH, LA=20, /B=,C=403
0, 4sm2e+2sme-1_oa€mg!mt| ﬁwaﬁﬂq
: ,Bcwwﬁagqmwt?

@ 5. -1 59
i (B D)
B Oy
B-1
(9) i o
@ 265 -1

69..

70.

- FDGT-T-EMT

) 9L=25H

T Tt B A A L 3,
EoC

(@) 12L=29H

(0 T7L=23H

@ 5L=13H

(24-A)

i I TS W (03) M%ﬂqﬁwﬂﬁfrw

12cmﬁmam16cm$€rr$alﬁq¢mm
aﬁqﬁmawmt | T T I 9§
AW ST B 3R MA H AHR Ve & FF aw

| wd A B e R ik g T g

AR

) 5 e 7 3 v

4
(a) " 5
3
® =
5
(d 2

'Join' Telegram : https://t.-me/defenceekaksha
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'68. In a triangle ABC, Z A = 20, Z B = Z C = 40| Consider the following for the next three (03) items
“and 0 satisfies 4 sin2 0 + 2 sin 6 — 1 = 0. What | that follow : '
is the ratio of BC to AB ? | : : « da : B
race A conical vessel of radius 12 ¢cm and height
(a)' e T g 3 16 cm is filled with water. A sphere is lowered
o (Jg TR e s : : into water and its size is such that it touches
i e Ay b p the sides of the vessel and it is just immersed.
(c) W5 -1 : Gy : A ; ~ '
4 71. What is the radius of the sphere ?

@ 265 -

touches the s
;'espectively.

(a) 90°-A

(b) 90° - N 1n _the _vessel
“(e) . 90°-2A
g el
@ 90 (2

70. The length of a

4
3
h t of th andL th s Lo GEasis o
elgh et s hat is the. of lateral surface area of the
that can be placed in the room, essel to the surface area of the sphere ?
of the following is correct ? (a) i;.
(a} 12L = 29H (b) %
() 9L=25H
() Z
(© T7L=23H 8
'@ BL=18H BT e (&%
FDGT-T-EMT (25-A)
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o WW&,(ozg‘ﬁ%%q-ﬁwﬁﬁa-wﬁw 71.

74,

L RN e

90°$r-aﬁwaq1zﬁ% |

'ag;é@ & ﬁam—vr o 2 2

: B ¥

ki
(b) 3
12
8 7
; 12
(d) 3‘
75. 4 @ W
12
o
: l2 7 q
‘ (b). i
(c) E‘
oz
@ 5
76. B ABC, A W wHehIia 2 8T A
% lqﬁBD 7-5 cm 3 DC = 10cm'3 ?‘ﬁAD
ﬁﬂﬁam%? o ;
(a) 5 cm g _ t
b 5v2em
(© 5v3em
(d 10cm
FDGT-T-EMT

Join Telegram :

(26-A)

ﬁgaABc%:ﬂmthqtaEAD BC & DW
| 39 YT VRS H1 2 1% DB = 3CD 2 |
Freafefa 3 & e i 2 2

()  2(AB+AC) (AB - AC) = BC?

(b) 3(AB+AC) (AB-AC)=2BC?

(¢) 4 (AB+AC)(AB-AC) = 3 BC?

(d  5(AB+AC) (AB - AC) = 4 BC?

.;% aﬂiA'C = V3 BC

| AB2+ AC2-BC2 =

e ST} oft SEd Am wE w ® |
Ife qr < Frg mrﬁa% a‘TanEmam:r
TR 2

(a) 03cm

(b) 045cm

(¢) 06cm

(d 075cm

https://t.me/defenceekaksha
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Conszder the followmg for the next two (02) items
that follow: ;

A chord of length [ of a circle makes an angle
90° at the centre of the clrcle

74 What is the area of the minor segment ?

ey
(g) —2-(1t-§)

: l2 N
(b) 'Z(n——— d
2(n
Calfa el
N *2‘(‘2"5

75. What is the area

(a) IT (%’E +1
T % (3?"

© % (%’f

@ % [3?"

Triangle ABC is right-angled at A and AD is
perpendicular to BC. If BD = 7-5cm and
DC = 10 em, then what is AD equal to ?

(a) 5em

(B) 5‘\/5 cm'

(© 5V3em

(d) '
FDGT-T-EMT

76.

10 cm

77.

(27-A)

The perpendicular AD on the base BC of a
triangle ABC intersects BC at D so that
DB =3 CD. Which one of the following is
correct ?

(a)
)
(¢ 4(AB+AC)(AB-AC)=3BC?

2 (AB + AC) (AB - AC) = BC?
3 (AB + AC) (AB - AC) = 2 BC?

(d)

5(AB + AC) (AB - AC) = 4 BC?

‘A 2 60°. What is

The diameter .

a sphere made of copper is
3 cm. The sphere is melted and recast into a
wire. If the length of the wire is half metre,

~ then what is the diameter of the wire ?

(a) 6-3 cm
(b)
(¢) 06cm

(d)

0-45 cm

0-75 cm

~Join Telegram : https://tLme/defénceekaksha
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81.

82.

forosh seR B ?
@ % |
®) %
© —1%
@ ‘%
" FDGT-T-EMT

.m@mﬁ@%xﬁiwm&;m,w

(d)

@wﬁ%ﬂﬁso«m%lmm%

FIeT ST R | AG T WP B S, Ry m
W H A H 2_17 R s
(%eH) i F=s T R 2

@ A

(b) 12cm

(c)

TElT SE%e 340 ‘aif em ¥,

. qaswaa (3fifrm) # 3 I Yo 59 em
3R 21 cm § | FFEWIGL YOS ST # SR e

# @ 85 cm & Imﬂ ST T R 2

(a) 187-5ﬂﬁ cm
f(b) 227-5 9 cm

(c) 3'5537fcm .
(d) 4559 em
aﬁaﬁrlﬁzw WK

4cmam:rﬁqa;
sl s fedd

16cmgmara’r

ISt a1t U g o 3TaTa Teh THIVY
59 ABC @far o 2 | &0 AC W &R T
mﬁﬁﬁSm%IQﬁAB=xcm3ﬂ'{
BC=ycm®, @l xy I A T8 2

(a) 60

- (b) 80

(0 120 -
(d 160

(28-A)
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The height of a cone is 30 cm. A small cone is 84, TWO parallel sides of a trapezmm are 29 cm

cut off at the toil by a plane parallel to its and 21 cm. Non-parallel sides are equa.l and

8 Tt s s h is of length 8:5 cm. What is th £

base. If its volume is L of the volume of the s U e § eng@ om at is the area o
2B o ~ the trapezium ?

given cone, then what is the height of the :
3 (a) 187-5 square cm

frustum of the cone ? , Xy 3
: (b) 227'5 square cm
W W ‘  (© 375 square cm
(b) 12em & G | (d) 455 square cm
(¢) 18cm s 7
e ol ; B5. squa ; pper plate ¢ ide'16 cm weighs
; : : 1. A circular disc of diameter 14 cm is
5 o e weight of
A rectangular n

and b_readth 18
square of side 3

volume of the box
is the value of x ?

(a) 2
(b) 3 : ', _ 6 square cm and
g . ~ : , 8 ' 2 cm. What is.
@ 6 |
83. Letx, y, zbe the len;
' cuboid. If its volume is 400 cubic
total surface area is 340 square cm
is x1+y-1+z1equalto? : y
g A right-angled triangle ABC is inscribed in a
(a) 20 o SR e circle of radius 10 cm. The altitude drawn to
5 : s the hypotenuse AC is of length 8 cm. If.
(b) LY w . ‘ % AB = x cm and BC = y cm, then what is the
s : : » value of xy ? i ;
i e
; _ e by 80~
@ 9 £ T (c) 120.
g e i ‘ , d 160
FDGT-T-EMT S : (29-A)
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88. agﬂm mm§|mmm

: (b

)

' 89.

- FDGT-T-EMT

.'mwilmasqﬂmqﬁﬁﬁmw%‘»
(a)
3

Aﬁmssnaﬁméaﬁtﬁaﬁ%aﬁaﬁ
| ?,ﬁlacm%laqiﬁtﬁwaﬁ%ﬁawmw
&

- (@

2 cm
25 cm
(¢ "3em

.3-5cm

2 e

4em

- .e) Gem

(d 10em

91.

: (a)

m TS

THEA HIZTS I, mm@aa%wm
I R | TR W B 12 em, 10 em 3R

8em# Wﬁmgﬂaéﬂwsmaﬁm%

‘ﬁaﬁﬁﬁaﬁm%v
0-5 cm

(b)

lcm-‘

(© 15cm

mﬁmﬁmmaﬂm AR aE
6km/hrﬁamaaaa1%?(n_—) :

e6fE
ssfe

(a)
®)

R e

(30-A)

G))

33 ﬁﬁz'
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88. Two circles touch externally. The sum of their
areas is 89n square cm and the distance

between thelr centres 1s 13 cm. What 1s the |

difference in then' radii ?

(@ 2cm

® 25em
(¢ 3cm

“(d)- 3-5cm :

89. A square

pei-imeter.
1 square cm.
exceeds its breac
(a) 1cm
(b)  2cm

(© 3cm
(d 4cm

90. Two rectangles are of same are

480 square cm. They differ in lengths &
and breadths by 4 cm. What is the
in their perimeters ?
(a) 2cm
(b) 4cm

- () 6cm
(d 10cm

 FDGT-T-EMT

91.

(31-A)

A closed box is built of wood of uniform
thickness. Its external dimensions are 12 cm,
10 cm and 8 cm. If the inner surface area is
376 square cm, then what is the thickness of
the wood ?

(a)  05em 7
(b) . lem:
©

1‘5cm

2 triangles. The

is equal to the
: of X and Y are
ely, then what is the

taken by a person to cover
ar park of diameter 210 m
ifhewalksataspeedokam/hr?(n= %)

(a) 66 minutes

®Y - 55 iibites

(¢) 44 minutes
33 minutes

d -

Join Telegram : https://t.me/defenceekaksha »
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243 cmﬁgmméwmgﬁga%mﬂa
Th g Wi S R, St e Aot @

: 94.

W‘fm?lﬁﬂﬂ%ﬁqﬁ%@mﬁm '

w%‘r i

"a (N_—n)aﬁcm‘
(3J'.-n>avicm »
43 —2m@em

()
()

@

95.

ﬁﬁqmwm@nmmwgﬁn
(a) ad 1
(b) |
(©)
(d :{'?ﬁi,':rzﬁ,z',

~ FDGT-T-EMT

(32-

97. ﬁmﬁ%amﬁmﬁanfrﬁm 7
¥ @m@ﬁgmﬁ ﬁiﬁ%ﬂtﬂﬂaﬁaﬁr

ﬁawzﬁ%l |
g @iﬁﬁlﬂﬂgﬁa%aﬁwﬁ%m@m*
- wEEpEewE
3. maﬁwma@ﬁa@m-@m.
S

P -

= fe ﬁmmwm&mgﬁq
| Fad 131 2
et 2 900 3
1,23 3

(a)

(b)
. ©

@

AYyis
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94, In.anlequilateral triangle of side 2v/3 cm, a|[97. Consider the following statements :
circle is inscribed touching the sides. What is | 1. - In an esuilateral trinnigle. the sehtnoid
the area of the remaining portion of the : o ¢
o ; ; and centre of circumcircle coincide.
triangle ? :
7 2. ngle bisectors of a cyclic quadrilateral
(@ (2J3 — 1) square cm % Ang : : 5 _ 9 %
: form another cyclic quadrilateral.
() (3V3 - ) square em : 3. Every cyclic parallelogram is a
(¢) (43 —2m) square cm ‘ ' ; _recta'ngle. &
e 4‘/5 RN Which of the sta n.t\glven above are
4 E 3 \
95. A triangle has
and x + 26 cm.
then what is the v
(a) 18
(b) 17
() 16
1 which AB is parallel
d 15 5
C and D pass
96. ABCD is a par
B and C interse
of the following
1. AE=AD ;
s = 180°
2! CD =DE
» 180°
Select e cqrrect bt usmg b . Select thé correct answer using the code éiven
below : : ' » below : :
(a) Only1l 5 | (a) Only1and?2
(b) Only2 _ () Only2and3
(c) Both1land2 S : (¢) Onlyland3
(d). " Neither 1 nor 2 @)  L3ap
FDGT-T-EMT i L ER)
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99. ABCD T T wgH¥ & | AB 3f DC #1 94 | 100. wh fiye ABC ﬁwa@mﬁs%@tABﬁ
FGr W B, @ 4 E W faerh § | fefofea | ADaﬂ'{ACEﬁEqTEWMW%

F Ay eRmAR T R | % DE @i & BC % | 9% tre fyw #
AEBCAEAD%W%l £t ma.qﬁﬁﬁmgg'ﬁ
» ﬁb'aé;wat%?

2. ZCBE + £ DAE = 180°. _

ﬁﬁ?ﬂnwm\mmaﬁwiﬁm | “(ai) —‘/52;1

(a) aﬁlﬁl

(b) HaA

FOGT-TEMT _ © A
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99. ABCD is a cyclic quadrilatera.l' AB and DC|190, In a triangle ABC, DE is x like segment which
when produced, meet in E. Which of the :

: foll te i/ ’ intersects AB at D and AC at E such that DE
ollowing statements i are correct 7 i

is parallel to BC. The line segment divides the

1. AEBCissimilar toAEAD;’ . s triangle in two parts of equal area. What is
i g 2R equal to ? \
5 ACBE+Z'DAE=180°. : AB RS ST
' Select the correct answer usmg the code given | 21
below: - ‘ ; o 2

(a) 0'niy1
() Only2

5 g). Both 14

(d) Neither

FDGT-T-EMT e e
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| SPACE FOR ROUGH WORK

* .
} oF <
3 5 .
1 p
.
.
.
: DY z
o
S g
o x
e
.
Ve
. +

(37=A)
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SPAOE 'FOR ROUGH MRK :

.
) 2 g i
3 3 P e
R 5
; ¥
£y * 2 2
v
: { S
L ¥
3
¥ y e
‘ By 2
W
5 5 R
% b o
. el
. "ot
Y Ve
O
~
7
3
. N x
- 3 &
v v
§
.
.

FDGT-T-EMT (38-A)
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : FDGT-T-EMT : Test Booklet Series

TEST BOOKLET
ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

i

INSTRUCTION S

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED-OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO/ GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series A, B, C or D carefully and without any omission or dlscrepancy at the appropriate
places in the OMR Answer Sheet. Any omlssmnldlscrepancy will render the Answer Sheet liable for
rejection. :

You have to enter your Roll Numberion the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet. ; :
This Test Booklet contains 100 items (questions). Hach item is printed both in Hindi and English.
Each item comprises four responses (answers), You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separatc Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill.in ‘seme particulars in the Answer Sheet as per instruetions sent to you with your
Admission Certificate.

After you have'eompleted filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over/to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appénded in the Test Booklet at, t.he end.

Penalty for wrong answers : A :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

@) There are four alternatives for the answer to every question. For each question for which a wrong answer

‘has lieen given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty

(i)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(i) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that

question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

S e 1 e TR 36 IR F @ YB WO § |

FDGT-T-EMT (40-A)
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